
Inverse formula for        




=
dc
ba

A






       
10
01

dc
ba



Inverse formula for        




=
dc
ba

A









→





10
01

      
10
01 1

dcdc
ba

aa
b



Inverse formula for        




=
dc
ba

A









→





10
01

      
10
01 1

dcdc
ba

aa
b













−⋅−
→

10
01

   
1

a
c

a
b

aa
b

cd



Inverse formula for        




=
dc
ba

A









→





10
01

      
10
01 1

dcdc
ba

aa
b













−
→ − 10

01
   

1

a
c

a
bcad

aa
b



Inverse formula for        




=
dc
ba

A









→





10
01

      
10
01 1

dcdc
ba

aa
b













−
→ − 10

01
   

1

a
c

a
bcad

aa
b













−
→

−− bcad
a

bcad
c

aa
b

10
01

   
1



Inverse formula for        




=
dc
ba

A









→





10
01

      
10
01 1

dcdc
ba

aa
b













−
→ − 10

01
   

1

a
c

a
bcad

aa
b













−
→

−− bcad
a

bcad
c

aa
b

10
01

   
1

⋅a
b



Inverse formula for        




=
dc
ba

A









→





10
01

      
10
01 1

dcdc
ba

aa
b













−
→ − 10

01
   

1

a
c

a
bcad

aa
b













−
→

−− bcad
b

bcada
bc

a
b

aa
b

)(

1

0
01

   



Inverse formula for        




=
dc
ba

A









→





10
01

      
10
01 1

dcdc
ba

aa
b













−
→ − 10

01
   

1

a
c

a
bcad

aa
b













−
→

−− bcad
b

bcada
bc

a
b

aa
b

)(

1

0
01

   













−

−+
→

−−

−−

bcad
b

bcada
bc

a
b

bcad
b

bcada
bc

a

)(

)(
1

0

01
   



Inverse formula for        




=
dc
ba

A









→





10
01

      
10
01 1

dcdc
ba

aa
b













−
→ − 10

01
   

1

a
c

a
bcad

aa
b













−
→

−− bcad
a

bcad
c

aa
b

10
01

   
1













−

−+
→

−−

−−

bcad
a

bcad
c

bcad
b

bcada
bc

a
10

01
   )(

1



Inverse formula for        




=
dc
ba

A









→





10
01

      
10
01 1

dcdc
ba

aa
b













−
→ − 10

01
   

1

a
c

a
bcad

aa
b













−
→

−− bcad
a

bcad
c

aa
b

10
01

   
1













−

−+
→

−−

−−

bcad
a

bcad
c

bcad
b

bcada
bc

a
10

01
   )(

1

bcad
d

bcada
ad

bcada
bc

bcada
bcad

bcada
bc

a

−

−

−−
−

−

=

=

+=+

                                            

                                           

                

                )(

)()()(
1















−

−
→

−−

−−

bcad
a

bcad
c

bcad
b

bcad
d

10
01

   

Inverse formula for        




=
dc
ba

A









→





10
01

      
10
01 1

dcdc
ba

aa
b













−
→ − 10

01
   

1

a
c

a
bcad

aa
b













−
→

−− bcad
a

bcad
c

aa
b

10
01

   
1

bcad
d

bcada
ad

bcada
bc

bcada
bcad

bcada
bc

a

−

−

−−
−

−

=

=

+=+

                                            

                                           

                

                )(

)()()(
1



Inverse formula for        




=
dc
ba

A









→





10
01

      
10
01 1

dcdc
ba

aa
b













−
→ − 10

01
   

1

a
c

a
bcad

aa
b













−
→

−− bcad
a

bcad
c

aa
b

10
01

   
1













−

−
→

−−

−−

bcad
a

bcad
c

bcad
b

bcad
d

10
01

   



Inverse formula for        




=
dc
ba

A









→





10
01

      
10
01 1

dcdc
ba

aa
b













−
→ − 10

01
   

1

a
c

a
bcad

aa
b













−
→

−− bcad
a

bcad
c

aa
b

10
01

   
1













−

−
→

−−

−−

bcad
a

bcad
c

bcad
b

bcad
d

10
01

   A-1


	Inverse formula for        
	Inverse formula for        
	Inverse formula for        
	Inverse formula for        
	Inverse formula for        
	Inverse formula for        
	Inverse formula for        
	Inverse formula for        
	Inverse formula for        
	Inverse formula for        
	Inverse formula for        
	Inverse formula for        
	Inverse formula for        

